Faber Castell 61/60 (15,5 cm)
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1 cbdem wiegt | ¥ 1 cbdem wiegt ¥

Eichenholz 0,7 | Sand, nass 1927 ]
Kiefernholz 0,66] , trocken 1.6

® =314169 | g =98l 1 cbdem wiegt
/L 1

i = 031830 T =0.10194 | Schmiedeisen
x® = 9.8698 g? =98.2861 | Gusseizen

20,43 RM.

Erlenholz 0,65 Cement 29
Mmemﬁ vt.ﬂZEGQG: :'g 1 cbm Steinschotter = 1620 kg | &
w0 megie 'y , Steinkohle = 900 , |3
,v.Bruchstein. |24 |} | Braunkohls 700 ,
Erdbodenv.1,4bis2,4 |1 , Cement = 1200 ,

% =078539 | |/ g =3.13209 || Stahl

V'E=177216 | |/ 2g = 44203 Bron.ze
1 Engl. Zoll = 26.4 rnm Messinggnss

Atm. = 1.03329 kg/qc
1P.8, = 75 Sec.mkg = 56 Wau | SUPfer gez,
1 Sec. mkg = 9,81 Watt Aluminium

1.d/1b. = 18,8 | Rpfg. /kg

b. Goldparitat
1

26 engl. Zolljj= 86 cn.
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